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SHL612 2006-2-22
o
1 Vce -0.5 +7.0 v
Vee -7.0 +0.5 v
Vbat -80 +0.5 v
2 Tstg -45 +125
3 VR 150 VRMS
o
1 Vce +4.75 +5.0 +5.25 v
Vee -5.25 -5.0 -4.75 v
Vbat -60 -48 -24 v
2 To 0 70
o
1
Vce Icc +10 mA
Vee lee -10 mA
Vbat Ibat -650 UA
2 Pc 35 mw
1200 mw
3 11oop 19 22 25 mA Vbat=-48V
Rloop=0-1K8
4
Voh 2.4 v 1ol=10mA
Vol 0.4 v loh=0.5mA
loh 0.5 mA Voh=2.4V
lol -10 mA Vol=0.4V
5
Vil -0.7 0.7 v
Vih 2.4 Vce v
lih 50 UA Vil=-0.7V
Il -500 UA Vih=2.4V
6
Vol 2.4 v
Voh 0.4 v
loh 100 mA
lol -10 UA
o
1 Vring 90 v -48V
17 25 Hz
2 200 ms
3 200+560//0.1 Q SH612C
600 Q SHL612
4 100 KQ
5 10 Q
6 -0.5 0 +0.5 db 1V 1KHz
-0.2 +0.2 db 300—3400Hz
7 -0.5 0 +0.5 db 1V 1KHz
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SHL612 2006-2-22

-0.2 +0.2 db 300—3400Hz
8 30 40 db
9 50 55 db
10 CMRR 40 50 db
11 PSRR
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Vee 30 db
Vbat 30 db
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